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(B) (WL H BB AT HEADLEEDHSm) | (P ENLHEEN RS 558D LEE DB %i%o’ftfégfﬁi‘ﬂﬁ%%éﬂﬁ’%ﬁﬁ AR 72 KB A T IRAT
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RKAES m =
a) B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) 141.3 1.0 98.9 1.0 - - 14.8 2.9 141.3 1.0 96.0 1.0 - - 14.8 29
(2) 141.3 1.0 99.5 1.0 - - 14.8 2.9 141.3 1.0 99.6 1.0 - - 14.8 29
( 3) 149.8 1.0 99.5 1.0 17.5 3.5 15.1 3.0 149.8 1.0 99.2 1.0 17.5 3.5 15.1 3.0
( 4) 150.5 1.0 99.5 1.0 17.6 3.5 151 3.0 150.5 1.0 95.8 1.0 17.6 3.5 15.1 3.0
(5) 1404 1.0 99.9 1.0 - - 13.7 2.7 140.4 1.0 96.9 1.0 - - 13.7 2.7
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